Math 132, Spring 2017
Quiz 5 March 21, 2017
For all 8 a.m. Sections
Show enough work to make it clear how you got your answer.
Do NOT use any methods except those discussed so far in this course.

1. Write the formula for the Simpson approximation Sg for the integral fow f(z) dz.
(In the formula, fill in as many specific values as you can, since you don't have a formula
Jor f, you can just write f(0) for the value of f at 0, etc.) i
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2. The following integral is defined to be a certain limit. Write the limit and the decide
whether the integral converges or diverges. If it converges, find its value.
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Math 132, Spring 2017
Quiz 5March 21, 2017
For all 9 a.m. Sections
Show enough work to make it clear how you got your answer.

Do NOT use any methods except those discussed so far in this course.

1. The following is graph of the fourth derivative of y = f(z):

S is the Simpson approximation for f: f(z)dz. We can estimate that

4
(You may leave your answer in fraction form; no need to convert to a decimal.)
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2. The following integral is defined to be a certain limit. Write the limit and the decide

whether the integral converges or diverges. If it converges, find its value.
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Math 132, Spring 2017
Quiz 5 March 21, 2017
For all 10 a.m. Sections
Show enough work to make it clear how you got your answer.
Do NOT use any methods except those discussed so far in this course.

1. Sg is Simpson's approximation to f02 sinz dz using n = 6. WE can estimate that

2 .
Jysinzdz — Sg| < 222
(You may leave you answer in fraction form; no need to convert to a decimal.)
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2. The following integral is defined to be a certain limit. Write the limit and the decide
whether the integral converges or diverges. If it converges, find its value.
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Math 132, Spring 2017

Quiz 5 March 21, 2017

For all 11 a.m. Sections
Show enough work to make it clear how you got your answer.

Do NOT use any methods except those discussed so far in this course.

1. A point moves along a straight line. Suppose you have the following velocity

information:

t(sec) | v(t) (m/sec)
2 1
3 3
4 1
5 3
6 1
7 3
8 1

Use this data and Simpson's Rule to estimate the dis j:;nce traveled for 2 < t < 8.
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2. The following integral is defined to be a certain limit. Write the limit and the decide
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whether the integral converges or diverges. If it converges, find its value.
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Math 132, Spring 2017
Quiz 5 March 21, 2017
For all 12 p.m. Sections
Show enough work to make it clear how you got your answer.
Do NOT use any methods except those discussed so far in this course.

1. Suppose you know that the 4™ derivative f(¥)(z) = 3 for z > 0. Let Syg be the
Simpson approximation for ff f(z) dz with n = 10. We can estimate that

]f1 z)dz — Sig| < 2?2

(You may leave your answer in fractzon form; no need to convert to a decimal.)
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2. The following integral is defined as a certain limit. Write the limit and the decide
whether the integral converges or diverges. If it converges, find its value.
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